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= 3,456
Al 8,064
307 gizto| A 11,520 0 11,520
& 3,456
Al 8,064
10 MM SAANEEHESIHEX 11,520 0 11,520
CeENs=sS6E SAFAL HRHAH XIS 11,520
& 3,456
Al 8,064
CetNESEMEH 2 (XHA) 114,420 120,420 A6,000
201 et d| 8,500 8,500 0
01 AP 2t 2| bl 8,500 8,500 0
2 B2 H| 300
CIeNsasHEe 28 212 7,000
CretN=8g2s &A= 100,0003 *6Y 23| 1,200
307 2Iz2t0| & 105,920 111,920 A 6,000
11T AISIEXAIEEX 105,920 111,920 A 6,000
Cetnssdye 249 105,920
-=2tANH| 80,000
-2 | 12,000
-SAMX M= 13,920
OIsEXAE XH 3,650,989 3,265,925 385,064
= 421,619
= 591,269
Al 2,638,101
AAEOE NEHXH 7,300 9,050 A 1,750
= 5,110
= 657
Al 1,533
307 QI2t0| ™ 7,300 9,050 A 1,750
= 5,110
=} 657
Al 1,533
11 A EXAIEEX 7,300 9,050 A 1,750
AAHHE XNsots XA 7,300
= 5,110




A AMIEX
HE: HUNE OIS B35
2 Ols=EXAE XS (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
= 657
Al 1,533
Ols=XAEEd 2,269,826 1,980,000 289,826
== 340,474
Al 1,929,352
307 2Iz2t0| A 2,269,826 1,980,000 289,826
= 340,474
Al 1,929,352
10 MM SXANEEHESIGHEX 2,269,826 1,980,000 289,826
OlSLAFEAE 29| 2,269,826
& 340,474
Al 1,929,352
OIS EXAIEESAIA ALY 114,410 98,520 15,890
< 34,323
Al 80,087
307 giztol A 114,410 98,520 15,890
& 34,323
Al 80,087
10 MM SAANEEHESIGHEX 114,410 98,520 15,890
OlsSXIAIE SAFXF X0 AHI 114,410
= 34,323
Al 80,087
OlSE2XAIES AR HAHZAY| 40,800 0 40,800
o= 12,240
Al 28,560
307 212t0| & 40,800 0 40,800
=} 12,240
Al 28,560
10 AISIEXAIEEHE2IHIEX 40,800 0 40,800
Ol==EXAIE S A EHZAH K& 40,800
= 12,240
Al 28,560
OlsM&Eotd XI& 74,270 81,578 N7,308
& 22,281
Al 51,989
301 et A =2 9,360 0 9,360
= 2,808
Al 6,552
01 Al B & A 462 9,360 0 9,360
IIEQE 25H =t 9,360
=} 2,808
Al 6,552
307 21240 64,910 81,578 A 16,668
= 19,473
Al 45,437
11T A EXAIEEX 64,910 81,578 N 16,668
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&2 OFSEXAE X (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ObsMaotd XA (Z) 64,910
< 19,473
Al 45,437
otsstsad X 75,200 80,600 A5,400
< 22,560
Al 52,640
307 21201 A 75,200 80,600 5,400
< 22,560
Al 52,640
11T MISRAASEX 75,200 80,600 A5,400
Ol=sst&S& RS (ZZ) 75,200
< 22,560
Al 52,640
orsENEed X& 31,000 35,100 A 4,100
< 9,300
Al 21,700
307 21201 A 31,000 35,100 A 4,100
= 9,300
Al 21,700
11T AL S XA E X 31,000 35,100 A 4,100
OISENEY XA(EZ) 31,000
< 9,300
Al 21,700
OlSZSAIE SAA €8s T2 6,000 6,000 0
307 glz2tol & 6,000 6,000 0
11T M Z2XASEEX 6,000 6,000 0
OISUSAIL SAXK 2y 14
500,000& x12H 6,000
OtsSXN WA ItA XA 103,739 98,984 4,755
= 51,869
= 15,561
Al 36,309
101 @14 Hl 103,739 98,984 4,755
= 51,869
< 15,561
Al 36,309
03 B2 (RIHY)2Z2NE S 103,739 98,984 4,755
-Jle36y) 103,739
= 51,869
< 15,561
Al 36,309
OFSSXI WA THA X & (XHA) 36,200 48,180 211,980
101 124 dl 35,000 48,180 A 13,180
03 SR (RIHY)22HE S 35,000 48,180 A 13,180
OtsSS X WA IHA X & 35,000
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At = X ot
FHoANE ol 25
Ots=XAE X&
= _ — d =
SA - BB B (BA) - MM - BHES e
02 QI EASEZ (OIS ) 40,000 10,000
AGotsdy SFMH X 40,000
= 20,000
< 6,000
Al 14,000
ANotsdE X&(=dl) 42,540 35,065
< 8,508
Al 34,032
307 21201 A 42,540 35,065
< 8,508
Al 34,032
11T MISRASEX 42,540 35,065
ANGotsdlH XA (=) 42,540
S 8,508
Al 34,032
Ots=XAIE 1Addl =X & 50,624 50,624
< 15,973
Al 34,651
307 glz2tol & 50,624 50,624
< 15,973
Al 34,651
11T ALS S RAEE = 50,624 50,624
ASAotsdH 128 FIHAI& 50,624
= 15,973
Al 34,651
ANEotsdEH SAXelAL XA 54,000 54,000
307 glz2tol & 54,000 54,000
11T M SXAISE EX 54,000 54,000
AGotsdH sAZel At XI&
500,000 *9JH A = 1201 & 54,000
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< 21,855
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= 100,200
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= 16,000
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- 84K X 1,000
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= 12,000
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Al 2,100
- AW =HI 2,000
= 1,600
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Al 280
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< 120
Al 280
- Bt=2Hl 28,250
= 22,600
< 1,695
Al 3,955
- 284l s 10,000
= 8,000
= 600




2N
X ZH -
L= B

el

>

S
%HE Ols 25
S=X(SYARE)

K- B3 B2 (3A0) - HRAMY - BES

=
i

2

02 83=2
prni
=)

Z W

= Hn

= N H

= M W

1,400
5,000
2,000
1,600
120
280
3,000
2,400
180
420
40,000

10,000
8,000
600
1,400
30,000
24,000
1,800
4,200

5,000

38,040

1,960

202 04l

= M W

5,000
4,000
300
700

10,000

25,000

01 = LH o4 1l
=

- £2Z0Hl S

zZ W

5,000
5,000

4,000
300
700

10,000

A5,000

301 LEIENZ

=z N H

52,000
41,600
3,120
7,280

52,000

01 AR 2Z A5 3
ct
=

09 HALAHIXI &3

= MW

Z W

40,000

40,000
32,000
2,400
5,600
12,000

12,000
9,600
720
1,680

40,000

12,000

307 glztol &

=z N H

19,000
15,200
1,140
2,660

19,000

01 &

|

00 Hu

Iz 42

o 4
o]
==

bl

Q
(=)
O
e
o
oY
Bl

19,000
19,000

19,000




A AMIEX
HE: HUNS OIS B35
S OIS=EX(EEAEE) (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@i HRE2
= 5,200
& 1,140
Al 2,660
405 XHAHF S HI 3,000 3,000 0
2 2,400
= 180
Al 420
01 XAt 2 ZF S| 3,000 3,000 0
- &JIH & #¢ 3,000
= 2,400
= 180
Al 420
FHAHZSOIS S At 22 (XA 61,630 104,280 AN42,650
101 21 21d| 61,630 58,560 3,070
03 222 (RIH) 22 E 61,630 58,560 3,070
FHAHE0lS S MAZZI(ESEAEE) 61,630
- A= 27,280
- EMDNAHSLY 13,800
- IIExH 6,000
- A2t 6,000
- X 8,550
Olsstt 833 AFY X & 114,505 63, 154 51,351
= 68,040
= 6,228
Al 40,237
orsst 223 A XI& 25,705 13,234 12,471
101 Q121 H| 13,305 13,234 71
03 22X (RI|HAY) 2222 13,305 13,234 71
OlSSt ZZ23HAIY QAHHI(2RE) 13,305
- a2 6,165
- EMNAESY 2,760
- A2t 2,580
- X< 1,800
202 04| 2,400 0 2,400
01 ZLHHI 2,400 0 2,400
=20 H| 200,000 =121 & 2,400
307 QI2t0| ™ 10,000 0 10,000
o1 s R=Hl| 5,000 0 5,000
SHIHIOIoH (2l & )ots XI2Hl 2 2 AbHl 5,000
11T AISIEXAIEE X 5,000 0 5,000
SHHIIOH Ot S L AIE S AH| 5,000
olsEsdY 78,800 49,920 28,880
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 63,040
& 4,728
Al 11,032
101 124 H] 63,800 49,920 13,880
= 51,040
& 3,828
Al 8,932
03 2 (RIHSY)Z22RE 63,800 49,920 13,880
OlsESdME A oA 63,800
= 51,040
& 3,828
Al 8,932
201 et d| 7,000 0 7,000
= 5,600
=} 420
Al 980
01 AFR 2t 2| bl 7,000 0 7,000
22| 7,000
= 5,600
& 420
Al 980
301 et A= 3,000 0 3,000
= 2,400
& 180
Al 420
01 Al E & A 462 3,000 0 3,000
IloHot s K& 3,000
= 2,400
= 180
Al 420
307 QI2t0| ™ 5,000 0 5,000
= 4,000
o=} 300
Al 700
01 22232 =H| 5,000 0 5,000
Iolots 8=Xsd ¥ &HAHH] 5,000
= 4,000
& 300
Al 700
OlsSS XA sF&H SAIXE 10,000 0 10,000
= 5,000
= 1,500
Al 3,500
405 XHAHF S HI 10,000 0 10,000
= 5,000
== 1,500
Al 3,500
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2N
X ZH -
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el

NEES
Zojel =X =X
Zoje=x =

[

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t

= 186,480
= 23,976
Al 55,944

301 LEAZ 266,400 280,043 A 13,643
2 186,480
< 23,976
Al 55,944

01 MEIBEZE+05l= 266,400 280,043 A 13,643
Hoig X2 (xHa<) 266,400
=2 186,480
< 23,976
Al 55,944

ZORQ! B OH AN (4 E) 361,373 381,500 A20,127
< 108,412
Al 252,961

201 et | 8,448 9,600 A1,152
< 2,534
Al 5,914

01 At 2teltl 8,448 9,600 21,152
ool ARRE X 8,448
< 2,534
Al 5,914

301 LEMZ 352,925 371,900 218,975
< 105,878
Al 247,047

01 MEI2EZE %6z 352,925 371,900 A 18,975
==Y FIHXE 96,131
< 28,840
Al 67,291
FRHZMH=E XA 141,960
< 42,588
Al 99,372
SMHAF=HOL =4l XA 45,540
< 13,662
Al 31,878
ST FsH XA 69,294
< 20,788
Al 48,506

ZOHQl MEOFEAIY (2 Z) 20,418 22,610 A2,192
< 6,125
Al 14,293

301 etEd 3 14,610 14,610 0
< 4,383
Al 10,227

01 MI2EZE 6= 14,610 14,610 0
AISYHOl MEXz X 4,000,000 x2H 8,000
< 2,400
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